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(a) Write your Roll No. on the top immediately on
receipt of this question paper.

%%m:r—qar%maﬁwgtaaﬁﬂfqtmﬁaw
i

(b) Answer may be written either in English or in
Hindi; but the same mpdium should be used
throughout the paper. :

%iﬁ—qazmma@vﬁmfﬁrﬁsﬁwwﬁ
. AR Tl 39T O & Wi ¥ #e =)

(c) Question no. 1 is compulsory.
g9q e T Aard B

(d) Attempt any four questions out of Question.no.
2to 7.

g9q o 2 ¥ 7 § A &l "X "9l & Swe S|
PUE.O):
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1.

Attempt any five parts (explain using diagrams where

appropriate) :

5x3=15

Reeet difer st s SR (ST Sferer & oy wfee e )

(i)

(i)

A monopolist’s marginal revenue is always less
than the price of its good. State whether true or
false and explain,

wﬁmnﬁ%wa%aa‘@%w%wé?ﬁ%l
T g8 HAA T IAT AEA & AT Hirog ?

Do you agree with the following statement ? Expla?in
your reason “A binding price floor and binding price
ceiling are both lower than the equilibrium price”.

aﬁTamﬁwaﬁwﬁﬂm%?WW(‘fq
qeeT) a7 AHa g G A w9 & ®H
2T B | IO I Y ATEAT HY |

(iii) Is it possible for marginal product of labour (MP, ) to

(iv)

(v)

decline when the average product of labour ( AP, )
is rising ? Why or why not ?

FT A8 EYG B 99 99 H AWK IdIET gl § a9 517
1 SITT IeEA d TEl A 1 R/t ofw ;b E ?
Markets are usually a good way to organize
economics activity. Explain.

afefes fraredf @ fharfaa &3 & ﬁ‘ﬂ ST T =T
9T B | @EreEr HY )

Why does Marginal Cost (MC) curve always intersect
at minimum point of average Variable Cost (AVC)
curve ? Explain.

i drTE aeh, ofiHa IRadHsid arTT a% & gaad
frg wX w3a fa=des & 8| a% ded a9ssd |

2

3.
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(vi) Why cannot two indifference curves intersect each

(i)

other ?
A T T TH AT B R/ TE e gEy ?

How do interest rates affect household savings ?
Explain with suitable diagram. 8

TS P & e T Teeet BRT # S areh a9 @y
gHTfae Y 8

Evaluate the following two statements. Do you agree ?

Why or why not ? 7

=t T a1 gedieT 0 | 71 o =g

FIT G TeHd & ? o4 o G T ? _

(a) “A tax that has no dead weight loss cannot raise
any revenue for the government.”

TH HY, TS BT TR Efy 98 O, B 3
T H B A AT TE 8 e |
(b) “A tax that raises no revenue for the government
cannot have any deadweight loss.”

TF HT, Rred RO T B B o oy T8
BIch, i HeraT B frerger wE A 21

(a) Two drivers — Mohan and Sudhir each drive uptoa

gas station. Before looking at the price each places
an order. Mohan says, “I would like 10 liters of gas”.
Sudhir says, “I would like T 500 worth of gas”. What
is each driver’s price elasticity of demand ?

4
3 2T.0.
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4.

(b)

(c)

(i)

& % U T 9 9T T 8 | AW o g oA A
TE HAed Fear & ar 10 e | I aur g Haar
2 5 @ 500 I N S| @ =reres AT @ A
F R ? :

How do elasticity of demand and supply distribute the
burden of taxation between buyers and sellers ?

Explain with the help of diagram. 5

% &g § erded Yl 8| fam #it gergar ¥ 99ssy |

Explain why the following might be true :

A drought around the world rises the total revenue
of the farmers receive from the sale of grain, but a
drought only in Haryana reduces the total revenue
that Haryana’s farmers receive. : 6

wamEy, e FYe b ' @
A gar 9 97 99 Real @ HF oG 98 Seit

&, STafh aw eRAT F g gs9 9¥ #arn & et
' FHT oM "E S B

Why did the OPEC member succeed in increasing
the price of oil for a short period but could not
maintain it for a long period ? 7

OPEC & @5 3I¢9Hhd & o & Ol %I FHiEd ge™ 7
A% gC T TSI §F HIAdl i ar Erefeprer aoh el ka7
g gH 1 = ?

(i1)

(ii)

(iii)
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The price of burger rises from I 30 to ¥ 50 per
burger while the price of Pepsi remains < 15 per
glass. For a consumer with a constant income

% 3,000, show what happens to the consumption of
Pepsi and burger. Decompose the change into
income and substitution effect. 8

it % gea 30X A Tt 50 < & Swar @ wEth =i
@ ge 15 < ufey e ov & Rw e @ ) SusdiET,
forgent ama 3,000 < &, SosiiRr & U ok o &
IUHNT 9T 3H eI URgds # T 999 984T € | e
gie @ e T gfereemas g § R %1

Why is the average cost curve U shaped ? Explain
using a diagram. 4

e Y oA @ @ U TR &t grar & 7 R
& FreT ATEAT H1 |

Does a competitive firm’s price equal the minimum
of average total cost in the short run, in the long
run or both ? Explain using a diagram. 8
T TH AREET B H OGed TR § gaad sfrad
ANTT & T BN 7 T g€ FHET At § e 4
STe9shie a1 e A H ? o & Ay e #7)
Under what conditions will a firm shut down
temporarily ? Explain using a diagram. 3
b Hae § % HE ' B R Sared dg T W ?
s & g e 7Y

S P.T.O.
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6.

(i) Define natural mono

monopoly ?

Sl TEimT § ey T TEY § ? e
W%wwwwamﬁmmm

Sraar & ?

that the demand for the CD is as follows : 9

aﬁa%emﬁqg@ﬁsﬁﬁwém%:ﬁwém:ﬂ%
a@'ﬂﬂ%ﬁaﬁaﬁﬁwaﬂqvﬁsﬂw%:

Price in rupee number of CDs
24 10,000
22 20,000
20 ' 30,000
18 40,000
16 50,000
14 60,000

The company can produce the CD with no fixed cost
and a variable cost of <5 per CD.

ﬁawﬁﬁﬁa?wmw%awﬁaﬁmeS?
afer g &

(1) Find total revenue for quantity equal to
10,000, 20,000 and so on .What is the
marginal revenue for each 10,000 increase
in the quantity sold ?

6

poly. What does the size of a
market to do with whether an industry is a natural
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00, 20,000
g‘cm'@mmmﬁ'&ﬁim 10,000 %t =
 Sqres W 9T 9Fia o &= enn ?

e -
(ii) What quantity of CDs would maximize profit ~

What would be the price ? What would be the
profit ? ‘ |
Wt 1 Reae wEn § Seaes fEar s Rred @
T AT BT | 39 WK 9T qed a°T He ard
A |

Suppose that labour is the only input used by a

perfectly competitive firm. The firm’s productlc;g
function is as follows :

s SRAET wH Bee O & I AT (55) H SE
T 1w @ Searee W A R T g

No. of labour Units of output

0

7
13
19
25
28
29
29

O it R

7 P.T.Q.
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(i)

(b)

()

(d)

(e)

Calculate the marginal product for each
additional labour.

o SHfaTeRT BoTgd & RIg = o Eie Sere
T HR |

Each units of output sells for % 10. Calculate

the value of marginal product of each
workers.

af% aeg 1 57 10 X ¥ & s s & dmi
TS B g T B?

Compute the marginal profit if the wage is
T 50 a day.

dmier e B IO Y = "ol 50 < wffEA

Bl

Draw the firm’s demand curve.

& @ =\ & o S50 9% @ s

What happens to this demand curve if the
price of output rises from T 10 to
< 12 per units ?

ST AT G5 9T T UNE S AR g% B
Faa 103 Fagwc 12 I S o B 7

Explain how the wage can adjust to balance the
supply and demand for labour while simultaneously
equating the value of the marginal product of
labour. 5

srET HiftTe fF Auigdl 1 & § SaR-=ed | #4° B
g7 g gff F Fea e & e B aur qergd & A}
9 B WA SEEA B g B FHA o A o

8 10000




